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Tutor Marked Assignment

dqy vad% 20

Max. Marks: 20

fVIi.kh% (i) lHkh iz'uksa ds mÙkj nsus vfuok;Z gSaA izR;sd iz'u ds vad mlds lkeus fn, x, gSaA
Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) mÙkj iqfLrdk ds izFke i`"B ij Åij dh vksj viuk uke] vuqØekad] vè;;u dsUnz dk uke] fo"k; Li"V
'kCnksa esa fyf[k,A
Write your name, enrolment number, AI name and subject on the top of the first page of the
answer sheet.

1. fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft, % 2

Answer any one of the following questions in about 40-60 words :

(a) ,d rRo dk ijek.kq Øekad 12 gSA ;g vkorZ lkj.kh ds fdl vkorZ vkSj oxZ ls lacaf/r gksxk\
(ikB&3 ns[ksa)

An element has stomic number 12. To which period and group of the periodic table it will belong?

(See lesson 3)

(b) ;|fi vkDlhtu dk ijek.kq vkdkj ukbVªkstu ls NksVk gksrk gS ysfdu ukbVªkstu dh izFke vk;uu ,FkSYih
vkDlhtu dh vis{kk vf/d gksrh gSA D;ksa

Although the atomic size of oxygen is small as compared to nitrogen but Ist lonisation enthalpy of
 nitrogen is higher as compared to oxygen. Why? (See lesson 3)

2. fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft, % 2

Answer any one of the following questions in about 40-60 words :

(a) fuEufyf[kr vfHkfØ;kvksa esa dkSu lk laHkkxh vkSj dkSu lk fo"kekxh mRizsjd ds mnkgj.k gSa

(i) 2 SO
2
 (g) + O

2
 (g)                2 SO

3
(g)

(ii) 2 SO
2
 (g) + O

2
 (g)                2 SO

3
(g) (ikB&15 ns[ksa)

Which one of the following reaction is an example of homogeneous and heterogeneous catalysis

(i) 2 SO
2
 (g) + O

2
(g) NO(g)               2 SO

3
 (g)

(ii) 2 SO
2
 (g) + O

2
(g) Pt(s)                 2 SO

3
 (g) (See lesson 15)

NO(g)

Pt(s)

NO(g)

Pt(s)
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(b) izksVhuks esa nks ,saehuks vEyksa dks tksM+us esa dkSu lk vkca/ gksrk gSA mnkgj.k lfgr O;k[;k dhft,A

(ikB&29 ns[ksa)

What type of linkage exists which connect two amino acids in a protein. Explain with an example.

(See lesson 29)

3. fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft, % 2

Answer any one of the following questions in about 40-60 words :

(a) Kp vkSj Kc D;k gksrs gSaA buds chp esa D;k laca/ gksrk gS\ (ikB&11 ns[ksa)

What are Kp and Kc? What is relation between them? (See lesson 11)

(b) vk;ksfud vkSj lgla;ksth Bkslksa ds d.kksa ds chp esa fdl izdkj dh vU;ksU;fØ;k gksrh gSA fdl Bksl dk xyukad
mPp gksrk gSA (ikB&6 ns[ksa)

What type of interaction exists between the particles of an ionic and covalenty solids. Which solid
has higher melting point? (See lesson 6)

4- fuEufyf[kr esa ls fdlh ,d dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4

Answer any one of the following questions in about 100-150 words.

(a) N
2
 + 3H

2
                  2 NH

3
 vfHkfØ;k ds fy, ΔH dk eku J`.kkRed gksrk gSA ;fn rkieku esa deh vkSj nkc

esa o`f¼ dj nh tk, rks mRikn ij D;k izHkko gksxk\ O;k[;k dhft,A (ikB&11 ns[ksa)

For the reaction N
2
+3H

2
              2 NH

3
, ΔH is negative. What will be effect on the product if

temperature is lowered and pressure is raised? Explain. (See lesson 11)

700K ij

(b) 2 NO (g) + O
2
 (g)                   2 NO

2
 (g) vfHkfØ;k ds fy, ΔG dk eku ifjdfyr dhft, tc fd ,aFkSYih

vkSj ,aVªkih ifjorZu (ΔH vkSj ΔS) Øe'k%& 113.0 KJ mol-1 vkSj - 145 JK-1 mol-1 gSaA crkb, fd ;g
vfHkfØ;k Lor% izofrZr gksrh gS ;k ugha (ikB&10 ns[ksa)

For the reaction

2 NO (g) + O
2
 (g)                  2 NO (g) Calculate ΔG at 700k when enthalpy and entropy changes (ΔH

and ΔS) are –113.0. KJ mol-1 and –145.0 JK-1 mol-1 respectively. This reaction is spontaneous or
not.

(See lesson 10)

5- fuEufyf[kr esa ls fdlh ,d dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4

Answer any one of the following questions in about 100-150 words.

(a) tc ,d rRo ds gSykbM(A) dks LiAl H
4
 ds lkFk xeZ djrs gS rks ;kSfxd (B) izkIr gksrk gSA ;kSfxd (B) ty

ls vfHkfØ;k djus ij ;kSfxd (C) nsrk gSA tks fd iwfrZjks/h gksrk gSA ;kSfxd A, B vkSj C dh igpku dhft,A
;kSfxd (B) dh lajpuk Hkh fyf[k,A (ikB&19 ns[ksa)
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Halide of an element when heated with Li Al H
4
 to give compound (B). Compound (B) reacts with

H
2
O to give compoind (C) which is antiseptic. Identify A, B and C. Write down structure of

compound (B).

(See lesson 19)

(b) (i) dkcksZusV vkSj lYiQkbM v;Ldksa ls /krqvksa ds fu"d"kZ.k ds izØeksa dh O;k[;k dhft,A

(ii) dqN /krqvksa tSls Al Au vkSj Na dks muds v;Ldksa ls lk/kj.k mipk;d vfHkdeZd tSls fd C, CO

vkSj H
2
 dk mi;ksx djds izkIr ugha fd;k tk ldrk gSA ,sls rRoksa ds fy, fdl izdkj dh vipk;d

fof/ dk mi;ksx gksrk gSA (ikB&16 ns[ksa)

(i) Explain the processes which are used for the extraction of metals from carbonates and sul-
phide ores.

(ii) Some metals such as Al, Au and Na can not be obtained from their ores by using common
reducing agents such as C, (CO) and H

2
O which type of reducing method is used for such

metals.
(See lesson 16)

6- uhps nh xbZ ifj;kstukvksa esa ls dksbZ ,d ifj;kstuk rS;kj dhft,A 6

Prepare any one project out of the given below.

(a) ,d xk¡o vkSj 'kgj dk Hkze.k dhft, vkSj ogk¡ ds i;kZoj.k ds varjksa dks uksV dhft,A

(i) xk¡o ;k 'kgj esa dkSu lk vf/d iznwf"kr gksrk gSA vius mRrj dk vkSfpR; nhft,A

(ii) D;k vkS|ksfxdj.k ty iznw"k.k ds fy, mRrjnk;h gksrk gS\

(iii) xzhu gkml ds fy, dkSu&dkSu lh xSls mRrjnk;h gksrh gS Xykscy ofkeZx ds nks izHkko fyf[k,A

(iv) vkstksu ijr ds vo{k; ds dkj.k gekjh Ropk dks D;k gkfu gksrh gS\

(v) iznw"k.k dks fu;a=k.k djus ds fy, vki D;k ekinaM lq>k;ksxs\ (ikB&31 ns[ksa)

Visit a village and a city and noted down the differences in their environment.

(i) Village or city which is more polluted? Justify your answer.

(ii) Is Industrilization is responsible for water pollution?

(iii) Name the gases which are responsible for green house effect. Write down two effects of
global warming.

(iv) How is Ozone depletion affect our skin?

(v) What measure will you suggest to control the pollution? (See lesson 31)

(b) vius iM+ksl dh vkS"kf/ dh nqdku ij tkdj dqN vkS"kf/ tSls fd ,fLizu] iSjkflVkeksy] dquhu] cksfjd vEy]
Y;wfeusy dksdhu] Mkbthu bR;kfn ,d=k dhft,A
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(1) vkS"kf/ vkSj Hks"kt esa varj fyf[k,A

(2) dkSu lh vkS"kf/ Tojuk'kh gS vkSj dkSu&lh o iwfrjks/h gS

(3) dkSu lh Hks"kt dh Hkkafr dk;Z djrh gSA

(4) ml ,UVhck;ksfVd dk uke crkb, ftldh [kkst ,ysDtsUMj Ýysfeax us dh Fkh

(5) LFkkfud vkSj lkekU; fu'psrd esa D;k varj gksrk gSA

(6) LovkS"kf/dj.k ,d gkfudkjd vkSj [krjukd gksrk gS D;ksa (ikB&30 ns[ksa)

Visit the nearby medicine shop and collect some medicine such as Aspirin, Paracetamol, Quinine,
Boric acid, Luminal, cocaine, digene etc.

(i) Differentiate between drug and medicine.

(ii) Which one/(s) is above medicine is/one antipyretics and which one is antiseptic.

(iii) Which one acts as drug.

(iv) Name the antibiotic discovered by Alexander Fleming.

(v) What is the difference between Local and general anaesthetics.

(vi) Self-medication is very harmful and dengerous why? (See lesson 30)
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